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This submission present proposed resolution for CID 2040.  The proposed changes are based on REVmd/D2.1.

Revision history:
R0 – initial version




	CID
	Clause
	Page
	Line
	Comment
	Proposed Change

	2040
	25.6.7
	3495
	44
	Equation 25-51 has a matrix form while I think should be on one line, if it doesn't fit, add a multiplication sign ("*") at the end of the line
	fix as in comment



Discussion:
The equation of interest is shown as follows:
[image: ]
Per the discussion in the February 8th teleconference call (19/0248r4): 
2.6.4.2	Concern that the equeatoin 25-51 was in two lines and looks like a matrix but should be on one line and a multiplication sign should be added to help clarify the terms in the equations.
2.6.4.3	Request to confirm that the equation form can be updated.
2.6.4.4	The proposed image on one line seems to have an alignment issue where the bottom line being moved up, was moved up to the exponent line rather than the main line.
2.6.4.5	There is only one equal sign, and so we need to confirm the actual equation
Per my discussion with a few TGaj participants (including Jiamin Chen, Shiwen He), the equation should be written in a single line and the equation does not contain any matrix, i.e., they are all variables.


Proposed resolution:
Revised
Replace equation (25-51) as follows:
[image: ]
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The time domain representation of the waveform transmitted on transmit chain i shall be as described by
Equation (25-51).9
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